2D b

ks #H £, i

B ROAZREFL & X,

/21

@ (5x—2)(7y+3) (a+2)(4+b) ® (1—s)(t—6)
@ (7+a)(1—x) @ (x—6)(4—y) (x—6)(y+2)
® (2a—7)(5p—4) (8+m)(n—3) @ (x—9a)(y—4b)
@ (a+9)(5-b) @ (Bx+4)(7y—6) (6—a)(b+5)
® x+8)(y—9) @ (x—6)(3+y) (B+a)(1+b)
® (6—a)(7+b) ® (a=9Nb-7) (7+5)(5+0)
@ (x—a)(y+5b) (x+7)(y+2) @ (x+6a)(y—8b)




2D b

ks #H £, i

B ROAZREFL & X,

/21

@© (Bx—2)(7Ty+3) (a+2)(4+b) ® (1-5)(t—06)
35xy+15x—14y—6 4a+ab+8+2b t—6—st+6s
@ (7T+a)(1—x) © (x—6)(4—y) (x—6)(y+2)
7T—Tx+a—ax dx—xy—24+6y xy+2x—6y—12
® (2a—7)(5b—4) (8+m)(n—3) @ (x—9a)(y—4b)
10ab—8a—35b+28 8n—24+mn—3m xy—4bx—9ay+36ab
@ (a+9)(5—b) @ (Bx+4)(7y—6) (6—a)(b+5)
5a—ab+45—9b 21xy—18x+28y—24 6b+30—ab—5a
® (x+8)(y—9) @ (x—6)(3+y) (3+a)(1+b)
xy—9x+8y—72 3x+xy—18—6y 3+3b+atab
® (6—a)(7+b) ® (@=9b-7) (7+s)(5+0)
42+6b—Ta—ab ab—7a—9b+63 35+7t+5s+st
@ (x—a)(y+5b) (x+7)(y+2) @ (x+6a)(y—8b)
xy+5bx—ay—>5ab xy+2x+T7y+14 xy—8bx+6ay—48ab




